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o Lilodalls D
thtrarmengenteamtmeasommyg

meanmiingfiull endio.
1. Canppsit

2. Caillimy

3. Bedi

4. Floor

5. Fam

Ans X 1.1,2,4,53
X 221,435
& 3.4,1,3572
X 4.42153

Q.1 Select the gption that indicates the correct arrangement of tine given words in a logical and

Status

Chosen Option : 8nswered
3

Ans theyap_y,\/ﬁgmgd to Sheela?
Ans X 2. Daughter

< 3. Sister

#< 4. Mothers sister

Q.2 Pointing at a lady, Sheela said, “She is my only brothers daughters fathers mother.”How is
Q.2 RuibtadyatctatedyiGSheeladid, “She is my only brother’s daughter’s father's mother.” How is

Status :

" NerketbhosiBedad
Chosen Option : Marked For Review

and

Q.3 In a certain code language, 'EASY" is written as '64' and 'CAMP' is written as '47'. How will
Q.3 IABEEHaénwdtierdanghagtaABeS written as '64' and 'CAMP' is written as '47'. How will
Ans 7 %T1 _bgé»vritten in that language?

Ans

o 2.42
X 3.44
4.32

1D 264220RAAAA

Fa "
JUCSUONTTo~"2094939000007

Status : 26fE1RERGH61

Chosen Option : Answered
4

-

“J




Q4 Select the correct mirror image of the given combination when the mirror is placed at line AB as shown.
A

Fty63B

Ams . 839yt1d
2. 8€9V34
3. 8€ayid
4. GEIAFT

Question ID : 26433057872

Status : Amswegeed

Chosen Option : 8

Q5 select the option that will replace the question mark (?) in the given figure to complete the pattern.

Question ID : 26433058055

Status : Ansaeared

Chosen Option : {




Q@8 Select the correct mirror image of the given figure when the mirror is placed at
'AB' as shown.

A
q

B

Ans ]
X 1. -
2 -
| /]

xal/ \

V-

AN |

X 4. -
1.7

Question ID : 26433057806

Status : Anspaeed
Chosen Option: 2

Q7 Select the correct mirror image of the given figure when the mirror is placed at MN as shown.
M

b37kda

N
Ams 1 SpP,ITEQ

2 abdLEd
3 ePYLEQ
+ sbiYEd

Question ID : 26433055058
Status : Amsweet
Chosen Option : 4




Q8 Twogaiementssaiecgivesm, ffoliovesdtyytwocconetlasioasinmbeeadd hadd |l Asssonitigdhbe
statements to be true, even if they seem to be at variance with commanly knowm faciss,
deciidie wiiiHh off e come Lusitrres | g ey ol owe) frram tthe sttattaments.

Statementts:
All shijps areeboeats.
Some ships are cargo.

Comsuusitans:
I. Some boats are cargo.
Il. All boats are ships.

Ans X 1. Both conclusions | and Il follow
& 2. Only conclusion | follows
#< 3. Only conclusion Il follows

< 4. Neither conclusion | nor Il follows

Question ID : 26433056699

. Mot Attempted and
SIaluS * ptarked For Rewiew
Chosen Option : =

QY Wiicth offttteefididwvinggwonhbes swillifepfdaedithaiyestitiormad K TP padcompisietéagiyienn
number seties?
38,57,74,03,110,?

Ans X 1.118
X 2.127
& 3.129
X 4.139

Question ID : 26433067467

Status : Anspared
Chosen Option : §

Q10 Which of the falllowitrgy mumiteres will Iresp aasettree quastitonmaaki(29) im ttee gjiem series?
3,9, 153336632 7

Ans X 1.142
X 2.124
X 3.192
o 4.129

Question ID : 26433059916

Status : Ansaeed
Chosen Option : 4

Q1 SsectiegnionttiEtisrditatito thefount temm in the same way @ thefirst term is related
to the secomd! tiemm amdififth term is related to sixth temm.

52:5:?:6::100:7

Ans X 1.61

X 272

X 3.9

o 4.74

Question ID : 26433057504

. Mot Atiempted and
SIaluS * \tarked For Rewiew
Chosen Option : ==




Q12 ?elllectllhe set im wihigh e mumitens ane nel atstlimttree samewayassane tremunitssssai tilee
‘ollowing set.

(NOTE :: @reslionssttnltd leepraftommed on the whole numbers, without breaking dowm tihe
numbers imto iits constituent digits. E.g. 13 -Qperations on 13 such as adding /subtracting
Jonulkijpiyivg &te. to 13 cam e perfomrest. Breaking dowm 13 iimio 1 and 3 and then performiing
mathematical opertlions an T ambiBi s Taddomd)l)

(15, 66,183)

(8,15,7)

Ans o 1.(11.57,8)
X 2.(13,99,9)
X 3.(17,69, 15)
X 4.(12,100,7)

Question ID : 26433067934

. it Attempted and
Stalus - \arked For Review

Chosen Option : =

Q™ How many triangles are there in the given figure?

Ans o 1.28
X2 27
X 3.24

< 4.25

Question ID : 26433057976

. Mot Attempted and
StalS  \rarked For Rewiew

Chosen Option : ==

Q14 Select the word-pair in which the twe wandisans ekt im the sameway as ane tihe tweo wands
in the givenpsir.
(The words must be considered as meaningful English words and must not be related to
each otvar eseticntzenonrbbe o bfdetiessiombbeo bt cnasoadisis/ivyaeie inithierard)d)
Collossal |- Ernonmooss
Ans X 1.Jumble: Order
X 2. Exigent : Ordinary
# 3. Deceit : Fraud

X 4. Diligent : Inactive

Question ID : 26433068480

. ot Adtempted and
Stalus : \rerked For Review

Chosen Option : ==




Q.15 Select the correct option that indicaties tihe arrangement of the: o)l wirggwesetdsimaa llgjied]
and meaniingll | oier (FroensGmkid BRig)
1.Rier
2.0cean
3. P!
4. Sem
S.lake

Ans X 1.51,3,4,2
& 2351472
X 3.3,4,51,2
X 4.3,1,5,4,2

Question ID : 26433067760

Status : Apsweeerd
Chosen Option : 2

Q.16 Which of the given letter-clusters willl replace tihe questiom mrani () in the falllowiig sanis?
FYAR TRV ARG RN @M QM

Ans X 1.0PTJ
X 2.0TS
< 3.0PS|
«" 4. 0PSJ

Question ID : 264330567138

Status : Anseted
Chosen Option : 4

Q.17 Which of the given letter-clusters willl replace the questiiom mrenik (2) in the fallkwi g sanbs?
CHI) BRISBVGROG Q, KTITEY

Ans X 1.IRDV
X 2. JRDV
< 3.IRDU
o 4.1QDU

Question ID : 264330567128

Status : Ansaeard
Chosen Option : 4

Q18 Select the optiaim theit represents: e comeattarteraftieegiemwastddsassttisyywenltdegpeedriin
an Engiishdiittonayy.
1.Stallkar

Ans X 1.4,7,1,3,2,6,5
X 2.4,7,1,3,52,6
3.47,1,325,6
X 4.7,4,1,3,2,5,6

Question ID : 26433067548

Status : Anseeed
Chosen Option : 2




Q19 Select the set im wihiich e munitiens ane nelhtttim e samewayyas ane e munilssssaf thiee
given setts.
(NOTE :: (Premiionsstouti e pefionmed on the whole numbers, without breaking dowim the:
numbers iimio its constituent digits. E.g. 13 -Qperations on 13 such as adding /subtracting
[eaulliping ette. to 13 cam e perfiomya. Breaking diowm 13 iinitw 1 and 3 and then performiing
mathematicall opertimmsam T At ssmotailbovesid))

(6,5,35)
(8,4,36)
Ans 7 1. (7,9,72)
X 2. (10, 6, 60)
X 3.(4,8,36)
X 4. (9,5,45)

Question ID : 26433057680

Status : Anspaeed
Chosen Option : §

P —————
Q20 In a code language, ‘GATHER is written as ‘20-26-7-19-22-9" amnd ‘DISIPHHSE B g sawititienags 28-
18- 81M12220B&22HblowiN ICOTENEARAINGE e twittert athat fangeage?

Ans o 1. 24-12-13-8-7-9-26-18-13-7
X 2. 24-12-13-9-8-7-26-18-13-7
X 3. 24-11-13-7-8-9-26-18-13-7
X 4. 24-13-12-8-7-9-26-13-18-7

Question ID : 26433056751

. Mot Attempted and
Stalus : \rarked For Rewiew

Chosen Option : ==

Q21 Select the ward-pair in which the twe wandisans ieltad im the sameway as ane the tweo wands
in the givernpesir.
(The words must be considered as meaningful English words and must not be related to
each otther irsetiontfeenowibbe o bidatisrsiombbeo bt cnssemasis/vaeis! it everdid)
Luiidl : Ratiora|
Ans X 1. Molest: Console
X 2. Malice : Kindness
«" 3. Numerous : Profuse

< 4. Morbid : Healthy

Question ID : 26433068478

. Mﬁﬁémptéd and
S1alus  \rerked For Review

Chosen Option : =




Q22 Select the optiam tiheitiks nelEied totttestttifcdwasedinnt isessameaweyyasst tisessaamddwvontdd s
related to the first wandl. (The words must be considiered as meaningful English words and
must not be neistetittoceathotibe bbesgé doththeumbdrerf dftettetsimbeberf of
consomnantis/vowels im e wan))

Needle : Sew :: Spanner : ?

Ans 7 1.Grip
X 2. Scoop
< 3. Hold
< 4. Carve

Question ID : 264336067349

Status : Ansaaead
Chosen Option : 2

Q23 S;I;cmtthe set in wihich te mumibens ane related im e same way as arre the numbes off e
givem setts.
(NOTE: (restitonssHuititeepeeftormed ontthe wisle mumibers, without breaking down the
nurmbersiinto iits constituent digits. E.g. T3~ Operations on 13 such as adidimg /subtracting
[mudlifpiying ette. to 13 cam be performed]. Breaking down 13 into 1 and 3 and tthem perfionming
mathematiicall operiorson] and3ddnoo tiboredd.)
(17,136,7)
(12,120, 9)

Ans X 1.(11,99,9)
X 2. (16, 85,5)
X 3. (15,125, 7)
o 4. (14,126, 8)

Question ID : 26433057684

. Mot Atiempied and
SIS Marked For Review
Chosen Option : =

Q.24 Seven people A, B, C;,I)EFF Rrd G Grersitittiodinaasstaigit row, fiacing nortth. Qnilytireepeepisle
are sitting im betwaeem G and E. F is an immediate: meigihhawraffissthGoandiis. @iy fioumsepiee
are sitting to the right of A, Wi iis sitting on the extirerme |kefft?

Ans X 1.D
 2.G
X< 3.B
X 4.E

Question ID : 26433056643

Status : Ansaaead
Chosen Option: 2

Q.25 |maaeastaiincodddaagyagee, TAXRPNTERR' ik wiittterass UCREET and "TAXATION is wiitteenass
WSODWRPPH blowiv T ERENBENGX Weitveritiarttiathatdangeage?
Ans X 1. UGOEFPCA

" 2. UGOFFPDA
#< 3. UGOFFPCB
#< 4. UHOFFPDA

Question ID : 26433056663

Status : Ansxaeed
Chosen Option : 2




Q.26 Sexvem dhiltdesn, B, Q, R, S, 1T U aaddNapsesseatatizatound @ square dining) teditée 2l fisiiag
towardss the caniiee SSomeabitbamarreisittio @ Bihiheaoere s vikailsosomer @ sttt ay tidhe
exact canredffitestitasod ttec dbbie 00N eeaxtds iefeftacacantl dhdMdafedrenmadiediate
neighbours. Qis seated at a corner, third to the right of . Only three kids are seated between
U and Q. Rissaniimmedizte meightbowr of both P and Q. P iis mot an immediate neighbour off T.
Siis seated second to the left of T. If V is seated fouwrtthttottteengititod FR winere is the vacant
seall?

Ans X 1.Fourthto the leftof Q
X 2. Third to the right of T
#< 3. To the immediate left of V
" 4. Second to the left of R

Question ID : 26433068368

. Mot Attempted and
SIaluS * ptarked For Rewiew
Chosen Option : =

Q27 In this questiom, three statemmssane gjken, follomeast y two caoraisitnssumbibeedd landd |l
Assuming the statemeniistolhe i, @ven if they seem to be at variance witth cammanyy
known facts, dieditewriithod fttlkecocantisria(s)dggiakhH ydiddaie(sirinontHi e tataterrests.
Statiementts:

All scooters are cars.

No cariis a cydie.

All cars are vehicles.
Comulusiimmss:

I. All cars are scooters.

Il. Some cycles are vehicles.

Ans X 1. Both conclusions | and Il follow.
«” 2. Neither conclusion | nor Il follows.
X 3. Only conclusion Il follows.

25 4. Only conclusion | follows.

Question ID : 26433057916

. Niot Aitempied and
SIaluS * erked For Review
Chosen Option : ==

Q238 Select the optiom tiheitis nelatea tottettitedwasediintiecssaneanvayyassttieesssomaddwostdss
related to the first ward. (The words must be considiered as meaningfiul English words and
must not be retisttetittosaabhotbe bbase doththaumbeberf détettensimibaberf of
consonantis/vowels i tine wandl))

Odiisha : Bhubaneshwar :: Nagaland : ?

Ans X 1. Jaipur
& 2. Gangtok
< 3. Dispur
" 4. Kohima

Question ID : 26433067353

Status : Ansxaeed
Chosen Option: 2




Q29 Select the option that is related to the third term in the same way as the second term is
rellatied! to tefirst tenm and! e stiathttermi ssretdateld datledfiffthtterm.

145:170::290 : ? = 442 : 485

Ans X 1.330

X< 2.320

X 3.335

o 4.325

Question ID : 26433092714

. Mot Attempted and
Stalus : \arked For Review

Chosen Option : =

Q30 Select the correct combination of mathenmatiiail siges teitcam sequentizilly replace ‘A’ and

balaneeitiegiiveregqqadtion.
26A12A12A6A2A5A6

Question 1D : 26433067486

. N6t Atterpiesd and
Status : \tetked Ee?%gview

Chosen Option : =

Q@3 Three different positions of the same dice are shown (Figures 1-3). Find the

number on the face opposite to the face having 2.

6 > < &> s
s (1| |e]1] |[aTs
Figure 1 figure 2 Figure 3
Ans X 1.1
X 24
o 3.6
X 4.5

Question ID : 26433076573

. Mﬁﬁémpted and
Stalus - \arked For Review

Chosen Option : ==




Q32 If A denotes ++, B denotiess *«;, C denotes -, amdi D denates =, ttem witaitwill cooned irptdsecobf
‘2 in the following equatiion?
99DOB6D3ASB(2C1)A3="

Ans X 1.76
X 2.154
X 3.304
& 4.30

Question ID : 26433067658

. Mot Attempted and
SIalus * ptorked For Rewiew
Chosen Option : =

Q33 Ima codizlkngyaass, CANDLE is witttemass 311 441285 amnid CARK $swiithtoraa st 4-1188H11".
How will ‘LIGHTT hewrtitemimttiat lemgumga”?

Ans X 1.12-9-8-7-20
X 2. 11-6-7-8-20
o 3. 12:9-7-8-20
X< 4. 12-7-8-9-20

Question ID : 26433056745

Status : Angxaed
Chosen Option : 3

Q34 Which letter-cluster willl replace the questinommankk((?%) to conmpitdestiteegiemsanias?
FONT? 2 RBB X SEZRTY NB'HB

Ans  +F 1. HVYV
X 2. JKYR
X 3. GKWR
X 4. JMXU

Question ID : 26433068042

. et Attempted and
SHatus * ptorked For Rewiew
Chosen Option : ==

Q.35 A, B, C, D,E FraandCaaseseseenconsing of diffeenitaggss Alssyponpgetréranmyly EGdsis
younger than C but older than D. Biis the youngest amongst tthem. - is yownger tthem D. How
many pegyiteisbyyonggetlihan?

Ans X 1.2

<23
X 3.1
o 4.4

Question ID : 26433088757

. Net Attempied and
Status : Marked Fer Review
Chosen Option : ==




Q36 Which of the fallwingymumitassswillraganssttieequastidonmeakk?))imttisegiiesn sssias?
27,7 MO4449%5 52

Ans o7 1.34
X 2.36
X 3.32
X 4.35

Question ID : 264330681603

Status : Answeaerd
Chosen Option : §

___________________________________________________________________________________________________________________________|
Q37 Select the correct combinatiom off mattienetited|signssttizdtosamsssyeniiddiyragitose @' ard
balamsettregiveneggaston.

52@12@15@3@6@5@15

Question ID : 26433067488

. it Adtempted and
Stalus - \arked For Review

Chosen Option : ==

Q3B Jia starts fror Point A and dirives & Bkemttomeadisttizenoetith SHbetire talades Agightitorn,
drives 2.65 km, turns right aind difivess 1025 Kkom. Sihe ttnem taliass a nighttttumansidiivessss 722
km. She takes a finall rigiit ttum, diies 3 36 Komandissogssad FramiPR. owféaraadtitonaadds
which directiom shau i e mawdhiveim adierttoresmth e tAaaggant? (G tunsseaesSIDdbeypee

tums only)
Ans X 1.6.05km, west

< 2.6.07 km, north
25 3.6.05 km, north
«¥ 4.6.07 km, east

Question ID : 26433068586

. Mot Attempted and
Stalus - \erked For Review

Chosen Option : ==

Q39 Hari's brotiver i Shitv. Shiv has two sons Rarmm and Shyam. Shyam's daughter is Priya. How is
SthiwrestiatetttorPiyga?
Ans X 1.Fathers brother

X 2. Father
¥ 3. Fathers father
¥ 4. Brother

Question ID : 26433076336

. Mot Atiempted and
Stalus - \arked For Review

Chosen Option : ==




Q4O gelect the figure from the options that can replace the question mark (?) and
complete the pattern.

[

?
.
é}

Question ID : 26433068399

Status : Anseted

Chosen Option : 4




Q41 Select the optiam theit representss e comeaitartarafttisegiemwastddsasstiisyywasitdegpeedriin
an Engiishdiittonayy.
1.Partlurm
2 Penttagem
3. Pandiise
4 Parmenate
5.Personified
6. Panatete
7 Pestiiciigie

Ans X 1.3,6,1,2,54,7

o 2.3,6,2,1,4,57
K< 3.3,6,1,2,4,57

< 4.3,2,6,1,4,5,7

Question ID : 26433067547

- Net Attempied and
SIS arked Fer Review
Chosen Option : ==

Q42 Select the option that represents the letiers tmit, wihen sequentiilly placed fiam|bfitooriglittinn
the bllamiss tie ow willl kconubittet bied detibe seeites.
C_HE_CKCC_ECC__CH_C_K

Ans « 1.CCHKCEC
/< 22.CHECCEK
/A 3.HECCCEK
/< 4.CKECCHE

Question 1D : 26433067746

Status : Ansiaeed
Chosen Option : {

Q48 Seiettithegpionttitis e tetitotiefifth term in the same way as the second term is
relzted to the first term and the fourth term is related to the thiird| temm.
SEVERE :: ERHMES:: CFRWINAL : LANINIRC :: LOCATIQN : ?
Ans X 1.NOIATCOL
< 2.NIOTACOL
« 3.NOITACOL

#< 4. NIOATCOL

Question ID : 26433055937

Status : Ansaeed
Chosen Option : §

Q44 Q lies to the east of . R lies to the north of P. S liies to the north-east of Q. T lies to the south-
east of P amndl smutthwesstadf@Q WhHbatsshbepegitiombT withheeppectid $3?

Ans < 1. North-west
«” 2. South-west
X 3. South-east
#< 4. North-east

Question ID : 26433068361

. Mot Attempted and
SIalus : \erked For Review
Chosen Option : ==




Q45 select the option that will replace the question mark (?) in the given figure to complete the pattern.

Question ID : 26433058057

Status : Ansaeaied
Chosen Option : 4

Q46 Select the correct optiom thait imdiicatess e amangrmeanitaifitisefidibwingguecdd drired dgiriehl
and meariingfiull andter.
1.Knead
2.Bread
3.Balke
4. Alour
§.Geain

Ans X 1.54,1,2,3

X 3.51,4,2,3
X 4.51,4,3,2

Question ID : 26433067757

Status : Anspared
Chosen Option : 2




Q47

Select the option in which the given figure is embedded. (Rotation is NOT allowed)

T

< 2.

>

>

X4_4\4\4\

i

Question ID : 26433068131

Status : Aisweeeed
Chosen Option : 1l




:
<
<
-

Q48 gelect the option that is embedded in the given figure (rotation is NOT allowed).

Question ID : 26433058101
Status : Answered
Chosen Option: 2

121 A 78 C 25 D 4 B 8 = 2

Ans X 1.167
o 2. 149
X 3.345

X 4.178

@4@ If A denotes ‘+°, B denotes ‘x°, C denotes ‘-, and D denotes ‘+’, then what will be the value of the following expression?

Question 1D : 26433085875
Status : Not Answered
Chosen Option : -

Q50 Which letter-cluster willl ieplaes tihe question mark((?) o conmpiecttivea)veen sias?
KIESS 0DHWYY, WAMBNRIGAUQI

Ans o 1. SOKA
X 2. TPLB
< 3. MMJB

X 4.NPJC

Question ID : 26433068048
Status : Not Answered
Chosen Option : -




Section : General Awareness

Q.1 If one would like to climb the Himalayas from the foothillks ti hiigiher altitarties im lindii, then
whiich woulld e tie conettsmmsncess fioess st e twonlttbeevisdibea ?
1) Deciduous fiorests
2) Tundra vegetation
3) Pime forests
4) Wet, termperaite type of forests
5) Temperate grasslands and pastures
Ans X 1.1-2-3-4-5
X 2.1-3-24-5
X 3.4-1-3-5-2

o 4. 1-4-35:2

Question ID : 26433055317

S Wmﬁigg and
tatus Fked FoF Review
Chosen Option : ==

Q2 WHemwassttiesBitastNiimamPPaggeamined dancbieddlyythiecBryeanmmestiod fhaiid?
Ans X 1.2010

o 2. 2005

#< 3.2009

X< 4.2014

Question ID : 26433081968

Stat mkﬁémsiea and
Y Marked For Review
Chosen Option : ==

Q3B Wihith German chemist and piysiigist preedi it tthatt tthe conibivatonadfiternumbee oo f
electrons (n) and the physical structune off ttree gy SystemMm diseminesswilethieccamotésolsd ss
aromatic, anlaxamatits, @rmonasconadkio?

Ans X 1. Alexander Zaitsev
X 2. Auguste Laurent
«” 3. Erich Huckel
X 4. Victor Grignard

Question ID : 264336100046

Net Attermpled and
Status : Marked Fer Review
Chosen Option : =

Q4 Vil affttres fditovinggssthieeddegesttmanmaddd tedteamnzmtthwitthaadiapthas f22Kom, kawm
as the disgras tatificial poiimnt on Ezatty?

Ans X 1.Bingham Canyon Borehole
< 2. Askam Borehole
«# 3. Kola Superdeep Borehole
X 4.Berkeley Pit Borehole

Question ID : 26433055826

Net Attermpied and
Status - Marked Fer Review
Chosen Option : ==




QS5 Tieeuppesriesimafwiicbhrvesiinthieestaiecod Obhbtitiggarisidnihb s bhpp ©bé ssacest?
Ans «* 1. Mahanadiriver

X 2. Jonk river
< 3. Sonriver
X 4. Indravati river

Question ID : 26433088187

Net Attempied and
Status Merked EB?%SVIEW
Chosen Option : =

Q6 Whinbrobfiibddtidlwingisissakihinauglybysypgss?
Ans  «# 1. Ethanol

X 2. Propanol

< 3. Butanol

X 4. Texanol

Question ID : 264336100698

Stat NsMﬁémBied and
1 Marked For Review
Chosen Option : =

Q7 Shrenem Lowen a fammous paporitalttiee Qdisisiyeo fddanase s bngsstoowtiitbhooontity ?
Ans X 1.Argentina

&< 2. Germany

¥ 3. United States of America

X 4. Uruguay

Question D : 26433680976

Stat NsMﬁémBiea and
1 Marked For Review
Chosen Option : =

Q8 Cheoss:theeptinmttiaitcantainssastiititunddethiressovitesestoor.
Ans X 1. Sugar making

< 2. Agriculture

< 3. Gold mining

«" 4. Banking

Question ID : 264336186722
- Not Atiempied and
Stalus - Marked Ee?%gviéw
Chosen Option : ==




QP Imam efffotttoustier in reforms in the field of agricultural marketing antiponmtecitiiee
marketing of agricultural products across the country and maximise the benefits of fammans,
the Government has approved a program called

Ans X 1. Agricultural Marketing Infrastructure (AMI)

X 2. Integrated Scheme for Agricultural Marketing (ISAM)
" 3. National Agriculture Market (eNAM)
#< 4. Gramin Bhandaran Yojana (GBY)

Question ID : 26433081898

Mot Atterpted and
SIS arked For Review
Chosen Option : =

Q10 Who among the folliwiing ress winitteem Tiree Bind] eff THmee??
Ans X 1.Bipin Chandra Pal

X 2. Sucheta Kriplani
«* 3. Sarojini Naidu
X 4. Mahatma Gandhi

Question ID : 264330871956

Stat mkﬁémsiea and
T Marked For Review
Chosen Option : ==

Q11 TheRasUeedioveasiitst started as a dance form in 1779 by _____, s TEith csviury Meitei
monart.

Ans X 1.Kulachandra
< 2. Chandrakirti
#< 3. Gambhir
4 4. Bhagyachandra

Question ID : 26433071497

&S Marked For Review
Chosen Optlon =

Q2 Avticle__________ of the Iinglian Cionsttution guerantiess e lopprotunity ttoallcitizensiin
matters related to employment in the puiblic sector.

Ans X 1.17
X215
X 3.18
& 4.16

Question ID : 26433071656

miot Atternpted and
SIS arked For Review
Chosen Option : ==




Q13 With the enactmenit off Governmenit off Indla Aait, 1919 the praxingisd Ibudisdtwass

Ans <" 1. separated from Central budget
X 2. joined with Central budget
< 3. prepared by the Viceroy's Council

X 4. not required any more

Question ID : 26433085259

Mot Aiempted and
Stalus - \arked For Review

Chosen Option : =

Q14 Accordiing o thee Inesmedtioral | Whiton ffor@oressmatitonad NedwnecamtdNed toed R uness
(IUCH) liist, tihe Himalayan trown bear, willdl Asiiatic buffale, desert fox and hamibill zne
classified into which category?

Ans  «" 1. Rare species
X 2. Endangered species
< 3. Extinct species
X 4. Endemic species

Question ID : 26433055128

M@tﬁ«empted and
Status : rked Eor Review

Chosen Option : ==

Q.15 The Governor of a State cam reseve ainy billl parssad hy e siaieel bgistditoeddothbe
consideratiion of the

Ans X 1. Chief Justice of the Supreme Court

#X 2. Chief Justice of the High Court
< 3. Prime Minister
«" 4. President

Question ID : 26433086888

Net Attermpled and
Status : Marked For Review

Chosen Option : ==

Q.16 If an object is mawig witthamanitad isgssstiad fxitmuniféommmtitonificdhhe wersag sppeddbf
the object.

Ans X 1.x+2
o 2.x

X 3.2x
X 4.x/2

Question ID : 264336106737
Status : Answsies

Chosen Option : 2




Q.17 Which country did India defeat to win its fisttesesranikast WianHt Quep titte?
Ans " 1. WestIndies

X 2. Zimbabwe
X 3. England
< 4.SriLanka

Question ID : 26433655185

Status : Ngt ARswered
Chosen Option : ==

Q.18 Raslilka is a famous dinesemajolyynesfosmeddnnvbidbnddiarSttag?
Ans  «# 1. Uttar Pradesh

X 2. Goa
< 3.Rajasthan
X 4. Madhya Pradesh

Question ID : 25433086571
Status : fApswered
Chosen Option : 3

Q19 Wi ammrgtieeféibwinggwraspppioketkd athth € ICdisnaraafdf tiehiabBpeds fhesuatch
Owganiisatttoniin Jemuay 220227
Ans X 1.ASKiran Kumar
" 2.Dr S Somanath
< 3.DrK Sivan

X 4.G Madhavan

Question ID : 26433674180

Status : Net ARswered
Chosen Option : ==

Q20 How many Artiicizs wene tihere in the original Constitwtiton affl retite?
Ans o 1.395

X 2.234

X 3.101

X 4.199

Question ID : 26433686771

Status : Ngt ARswered
Chosen Option : ==

Q21 Which of the followiimg Artiizbes efftties Indiem Comstittiidomaseenalbisst to citresssting?
Ans X 1. Articles 25 to 31

X 2. Articles 2to 4
" 3. Articles5to 11
X 4. Articles 15t0 21

Question 1D : 264336166046

Status : Nt Answered
Chosen Option : ==




Q.22 Which of the followiing statemenississcasrast??
Ans X 1. Pseudopodia in amoeba helps in the formation of cells.

/X 2. The egg of a hen is a group of cells.
«” 3. WBC is an example of a single cell.
X 4. Cells cannot be spherical.

Question ID : 2643361608739

Status : Net Answered
Chosen Option : =

Q23 For which region was the direction of tradiz (im temmms off Il & invpaytss s, Crore) fior 20MG-
17 the maxmum®?

Ans X 1. North America
«" 2. Asia and ASEAN
< 3. North Africa
X 4. Latin America

Question ID : 26433054790

Status : Net ARswered
Chosen Option : ==

Q24 In November 2021, the Union Ministry of Cooperation launched the "Dairy Salialkar" sciheme
at Anand, GujFatatancutlayaff____ cwess.

Ans  « 1.5000
#< 2.20,000
< 3.15,000
< 4.10,000

Question ID : 26433682834

Status : Net ARgwered
Chosen Option : ==

Q.25 Wihe ameng;tieftdidwinggpoppssddhbd/demaauldn Prees\atobi §238?
Ans  «" 1. Lord Lytton

X 2. Lord Curzon
25 3. Lord Dufferin
X 4. Lord Lansdowne

Question ID : 264336082669

Status : Nat ARswered
Chosen Option : ==




Q.26 Whe received the Nobel Prize in Physics in 1936 far tie ditscameny offa pasitivedjyatterggst
particle calllsd! tthe gt ™?

Ans X 1.Emest Orlando Lawrence
¥ 2. Carl Anderson
#< 3. James Chadwick
#< 4. JJ Thomson

Question ID : 264336100044

Status : Net Answered
Chosen Option : =

Q27 Who is the fistt halitkant accirmyWodr dNbo] Taakkig grinhib dU 90hid Shigtgesattegnnrithte
Badiniimton Wittt Feedestitorj juoraakkiggs ?
Ans  «# 1. Tasnim Mir
X 2. Advika Ganesh
X 3. Ashmita Chaliha

#< 4. Ashwini Ponnappa

Question ID : 26433672904

Status : Net ARgwered
Chosen Option : =

Q28 The market value of firaignasissancdsesmdessppeddaeddlyeacconttnddarigghbepddddbéan
accounting year indlsbhecod dppeetidioniskkoowmasstibe:

Ans X 1.NDP atfactor cost
25 2. NDP at market price
< 3. GDP at factor cost
" 4. GDP at market price

Question ID : 26433064860

Status : Net ARswered
Chosen Option : ==

e ———
Q&P ___won his 11th Nationall Billiands tittke an 20 Decemiiesr 2021 im Biheipail.

Ans X 1. Geet Sethi
< 2. Dhruv Sitwala
& 3. Pankaj Advani
¥ 4. Ashok Shandilya

Question 1D : 264336160669

Status : Net Answered
Chosen Option : =




Q30 Mathenmetitely, the dhectnelktttorsshippod ivkiibHdeweaabbaepeesataddphhabieon
equation? Where Y, TTanilikaaeevadlims; tenpattiue amd comstant, respectively.
V/T=k

Ans  «" 1. Charles' law
X 2. Dalton's law

X 3.Boyles law

X 4. Avogadro's Law

Question ID : 26433059084
Status : Net ARswered
Chosen Option : ==

P —————
Q31 Noble gases belong to whiich of ttie: ffltovingoogemmss?

Ans X 1.15'group
< 2. 5N group
«” 3. 18" group
< 4. 7N group

Question ID : 26433671436

Status : Net ARgwered
Chosen Option : =-

Q32 Wheo among the: folliowi g weass a noted Miitrggm pyer wine senved as ‘Artist in Residence
in Music’ at Wesleyan University from 1870-1975 and @gsiin fixonm T198S-2000 temcting Smutth

Indiizm ahurnmmriivgF?
Ans «" 1.RamnadV Raghavan
X 2. B Sasikumar
#< 3. L Subramaniam

#< 4. Abhijith PS Nair

Question ID : 26433054468

Status : Net Answered
Chosen Option : ==

- ————— |
Q33 Who Introduced the comeapits affftwddwvelh foddcbhinreaddeotdgisiabhitichdnniteeidasisic
textbook ‘Aviimnel| Eoedtagy publiksleddrin 99277
Ans X 1. Eugene Odum
«# 2. Charles Elton
X 3. Alexander Humboldt

X 4. Arthur Tansley

Question ID : 26433055134

Status : Net ARswered
Chosen Option : ==




Q34 Which of the following Is/are formmed by subduction between a plate canrying comtinental
crust andl @ pikateccaryjiggeeaniicarsist?

Ans X 1. Subduction zone
X 2. Transform fault
w” 3. Ocean trench
X 4. Normal faults

Question ID : 26433082217

Status : Net ARswered
Chosen Option : ==

Q35 Which of the following farests are found in the higher latitudes of Northern hemisphere and
are alsw oaletaasThiajga?

Ans X 1. Temperate Deciduous Forests
X 2. Tropical Rain Forest
«" 3. Coniferous Forests

X 4. Mediterranean Forests

Question ID : 26433055864

Status : Ngt ARgwered
Chosen Option : =

Q36 Wiicth wanes fillimttreenangg offttreEMN spectrumbisiivessr estioaare] AR wesd it mraxtiam
technology such as wireless metworks, sypacenrit communication, medical diathermy, andi
canpaTthestnent?

Ans X 1. Visible light
X< 2. Ultraviolet
«" 3. Microwaves

X 4. Gamma-rays

Question ID : 2643361000843

Status : Net Answered
Chosen Option : =

Q37 Match the following table.

RIVER TRIBUTARIES
A. Kaveri 1.Penganga

B. Krishna 2. Kabini

C. Godawari 3. Koyna

Ans X 1.A-1,B-2,C-3
X 2.A-2,B-1,C-3
X 3.A-3,B-2,C-1
& 4.A-2,B-3,C-1

Question ID : 26433054989

Status : Net ARswered
Chosen Option : ==




Q38 Tihe headeuanttrssai S (vt Sprae Ressanch Quganikatioon jisddoetaddiit:
Ans X 1. Jaipur

" 2. Bengaluru

< 3. Nagpur

X 4. Chennai

Question ID : 264336160693

Status : Net Answered
Chosen Option : =

Q.39 Which triknguitarpiesauragibonobi naiididessutittobing evaeNBumadala?
Ans  «" 1. Deccan plateau

X 2. Bagelkhand plateau
X 3. Malwa plateau
X 4. Marwar plateau

Question ID : 2843307160655
Status : gt Answered

Chosen Option : =-

Q4D Mgiin river forms boundary between the two States of Telangana and Maharashtra.
Ans X 1.Narmada

«” 2. Pranahita

X 3. Kaveri

X 4. Brahmaputra

Question ID : 26433055831

Status : Net ARswered
Chosen Option : ==

Q41 Which of the followiing stettamenississttneewilthresgset t coasvesgyy??
Ans X 1.Itcan be created and destroyed.

X 2. It exists only in mechanical forms.
< 3. It cannot be converted from one form to another.

" 4.ltis the stored ability to do work.

Question 1D : 264336166689

Status : Net Answered
Chosen Option : ==

Q42 Which of the followiing) stettemeanississcurest reggadihggoestitedidbgmgmad?
Ans  «" 1. m-RNA synthesis is called transcription.

< 2. m-RNA synthesis is called translation.
< 3. Protein synthesis is called transcription.

#< 4. DNA replication is the last step of central dogma.

Question ID : 26433653991

Status : Ngt ARswered
Chosen Option : ==




Ans

Ans

Q43 Wihe amerg te folovimggwasshed dunddeobitbdraraaldpaatyty?

< 1. Bimbisara
X 2. Kalashoka
X 3. Ajatashatru
" 4. Vasudeva

Question ID : 26433655665

Status : Ngt ARswered
Chosen Option : ==

of parfiamemt iim tiotzll firom the 1133 ill ks tthettwereet tdidéeld ?

Q44 In the 2021 Winter Session of the Parliament, how many bills were passed in both the Houses

Ans X 1.13
<29
o 3. 11
X 4.12
Question ID : 26433086877
Status : Net ARgwered
Chosen Option : ==
Q45 Puilela Gopichand won the All England Open Tournament iim ttiee yesir .
Ans & 1.2001
< 2.2000
#< 3.2003
< 4.2002
Question ID : 26433092330
Status : Net ARswered
Chosen Option : ==
Q46

Select the correct optian citiing) reasemss far mved e migyeditonasmed thestrpescenitagss, based on

the Carsissaifl nikiaZ2011
1. Education - 2%, marriage - 4%, work employment - 34%
2. Education - 12%, marriage - 4%, work employment - 24%
3. Education - 2%, marriage - 14%, work employment - 24%

4. Education - 2%, marriage - 4%, work employment - 24%

Question ID : 26433067164

Status : Not Answered
Chosen Option : ar




Ans

Ans

Ans

Q47 In wihichh yeam wass threNaditoed Rus I BEinmpiyynest B edanieecAot esasteddrinnddia?
Ans X 1.2001
X< 2.2002

" 3. 2005
< 4.2003

Question ID : 26433089265
Status : Ngt ARgweretd
Chosen Option : ==

«" 1. 11 March 2020
X< 2. 11 March 2019
< 3. 11 March 2021
& 4. 11 March 2022

QA8 Az ammunessimWey 20221, PMCARES for children schenme wawltssuypastiotiiddeenwhhdbaee
lost botth Parents ar llkgril Guardian or Adioptiive Panentis ar Sumiivirg Panent tto@OVID-19
pandemic during the period starting fram _______.

Question ID : 26433082833
Status : Ngt ARswered
Chosen Option : =

Q49 Which of the following) i a qualitatiive metthd off aestiitcamitod??

< 1. Variation in cash reserve ratio of banks
< 2. Variation in bank rate
X 3. Open market operations

" 4. Margin requirement

Question ID : 26433665426

Status : Ngt ARswered
Chosen Option : ==

Q50 The town of Mawaymiaimim Negftelkye is fmusas:

" 1. the wettest place in India

#X 2. the driest place of the world
< 3. the most windy place in India
#X 4. the coolest place in the world

Question ID : 26433064175
Status : Net Answered
Chosen Option : ==

Section : Part C General Engineering Mechanical




immersedlimttieliguidissghrearbby:
T IGsm 6
- h= = 2X

—  Igsin®8  _
X 2. ==L

h —— +X

— Igsin®6  _
« 3. -

h = +X

= Igsin® =

4 h= GAi' +X

the quantity of water (in litres per sec) is given by

X1 Z x d? x V litres/second

2. E X d? X V x 1000 litres/second

X3 E X d? X V x 100 litres/second

x4 2 x d? X V x 10 litres/second

Q3 Thefumndtion of a steam trap is
jackets

without permitting it to escape

jackets without permitting it to escape

Q1 Tithee mattremeiiced espression forcntte dfpassuse whan the sufBes is imdired and

Question ID :
Status :

Chosen Option :

26433095679

Net Atternpied and
Marked For Review

Q2 I waier i fovimgtiiieogihaaiia B pipe of dameter d (im mm))amd ihas a velocity of V (in m/s),

Question ID : 26433099963

Mot Adtempted and
Stalus * \tarked For Review

Chosen Option : ==

< 2. to automatically collect condensed steam from the steam pipes, steam jackets

Ans X 1. to automatically drain away the superheated steam from the steam pipes, steam

X 3. to automatically drain away the saturated steam from the steam pipes, steam jackets

4 4. to automatically drain away the condensed steam from the steam pipes, steam

Question ID : 26433095883

Mkﬂempted and
Status : rked For Review

Chosen Option : ==




Q.4 If the density of the fluid does NOT vary during the flow, then the fluid is said to be:
Ans 25 1.non-uniform

X< 2. uniform

X 3. compressible

«" 4. incompressible

Question ID : 26433098651
Status : Ansses

Chosen Option : 2

@5 Knocking takes place in compression ignition engine .
A 7 1. at the start of the combustion

& 2. at the end of the combustion

X 3. during combustion

< 4. at the start as well as the end of the combustion

Question ID : 264336166940
Status : Ansised

Chosen Option : 3

Q86 In an air standard Diesel cycle the efficimyy dimpendis an:

Ans  «" 1. cutoff ratio, compression ratio and ratio of specific heats
X 2. cut off ratio only
X 3. ratio of specific heats only

X 4. pressure ratio only

Question ID : 2643306100535

Status : Anspeaer
Chosen Option : §

Q7 Aflywheel is usedito comtrl .

Ans X 1. variation in power during each cycle of an engine

X 2. variation of power of a punching press
" 3. variation in speed during each cycle of an engine

X 4. variation of fuel supply of an engine during running

Question ID : 26433061069

Status : Angneead
Chosen Option : 4




Q8 Huivdientawmromnionisdisined as the amount of waler evaporatedi fflam ___
Ans X 1.0°Cto wetand saturated steam at 100°C

#< 2.0°Cto dry and saturated steam at 100°C
/< 3.100°C to wet and saturated steam at 100°C
" 4. 100°C to dry and saturated steam at 100°C

Question ID : 26433095898

. Net Atterpied and
Status Marked Fer Review
Chosen Option : =

Q9 Tiefirst law of thermodynamics is based om .
Ans X 1.Joule's law

#< 2. the principle of conservation of mass
" 3. the principle of conservation of energy

X 4. zeroth law of thermodynamics

Question ID : 26433085614

Status : Angaaed
Chosen Option : 3

Q10 Accordingto ________the rate of increase in pressure along the depth is equal to

Ans X 1. weight density, hydrostatic law
«# 2. Hydrostatic law, weight density
#< 3. hydrostatic law, mass density
X 4. Pascals law, weight density

Question ID : 26433095676

. Mot Atempted and
SIalus * ptorked For Rewiew
Chosen Option : ==

@11 |dentify the option that completes the given
statement with respect to stress.
Factor of safety is the:
Ans X 1.product of ultimate stress to the working stress
4 2. ratio of ultimate stress to the working stress
< 3.square root of ratio of ultimate stress to the working stress

X 4. ratio of working stress to ultimate stress

Question ID : 26433096674

. Mot Attempted and
SIalus * \torked For Rewiew
Chosen Option : ==




Q.12 Which of the following expressians give the Thoma's cavitatiom factr (), wititthitstiasitely
usedi to detiemmine wie teerozavitaibonwilllcaecu i inamyypeetiienodftHeet tirkihirne ?
Where, i, = attmospheric pressure head, H, = vapour pressure head, H = suction pressure

head) Hi=weokkincheedadfirthias.
Ans 1. (H,+Hy—H:)/H
X2 (H.—Hy)/H
X3 (H.—H;)/H
4 (Ha— H.—H,)/H

Question ID : 26433696701

. Net Attermpied and
Status : Marked For Review
Chosen Option : =

Q13 During phese change piocess of water ________.

Ans X 1.only pressure remains constant
" 2. both pressure and temperature remain constant
/< 3. only temperature remains constant

#< 4. neither pressure nor temperature remains constant

Question ID : 26433095593

. it Attempted and
SIatus * worked For Rewiew
Chosen Option : ==

[ |
Q.14 The Hydaullic Gratlint Lime will be having zewiin case of
Ans X 1. non-uniform velocity

25 2. uniform velocity
< 3. non-uniform pressure

«” 4. uniform pressure

Question ID : 26433099842

. it Adtempted and
SIatuS * ptorked For Rewiew
Chosen Option : ==

- ————————
Q15 Farasysten gperstiing in a oycle, themetwaorlk transfer is equal to ..
Ans X 1.change in internal energy

#< 2. change in enthalpy
«” 3. net heat transfer
X 4.zero

Question ID : 264330985616

. Net Atiempied and
Status : Marked Fer Review
Chosen Option : =




Ans

Ans

Ans

Ans

Q17 Pressure at any point in a liquid depends upon

Q16 ImaHidioiettic power gk, the atettic power is cbfained from the _______.

X 1. chemical energy
X 2. nuclear energy

X 3. potential energy
«” 4. energy of water

Question ID : 26433066767

Status : Answneaad
Chosen Option : 4

X 1. depth of the free surface
" 2. height of the free surface above the measured point
X 3. area of the free surface

X 4. force exerted on the free surface

Question ID : 26433095675

Status : Apswesd
Chosen Option : 4

Q18 Whicth afftiteffdidovinggs NQITaatyyeeas fr aatiiion cotecasmaggenotil?

«" 1. Syphon
< 2. Honey comb

X 3. Cellular
X 4. Tubular

Question ID : 26433096538

- ot Altempted and
SIAS * Marked For Review
Chosen Option : =-

Q19 Farspring loaded safety valve the pressure required to liffittiscvaiveeitss  tepiesssue

required to open it fullly.
X 1.equalto

< 2. more than
#< 3. may be more or less than

«" 4. less than

Question ID : 26433095894

. ot Aktempted and
Status * ptorked For Rewiew
Chosen Option : =




Q20 Attempering is a process where  of steam temperature happens.
Ans X 1. increment

+ 2. reduction

3. reduction or increment

X 4. No change

Question ID : 264336108912

. Net Atierpied and
Status - Marked Fer Review
Chosen Option : =

Q21 If cut-offf ratii im aiir stamdind dual cycle approaches to unity, then this llead to wihich @mong
the following cyudkesy?

Ans X 1.Diesel cycle
< 2. Brayton cycle
< 3. Rankine cycle
" 4. Otto cycle

Question ID : 2643307100538

. Net Atterpied and
SIS harked For Review
Chosen Option : =

Q22 The equations of equilibriunn fior nam-comcumenit ffotse syatarmarss:
Ans 1. ZF); 0

2.3Fx=0,YF~=0
3.2Fx=0
4.YFx= 0, YFy= 0 and YM=0

Question ID : 26433006664
Status : Amswetet
Chosen Option : 4

Q23 |n P-H diagram of wvapour compression refrigeration cycle, the campression process s stiown
bya:
Ans " 1. straight line with positive slope

X 2. straight line with negative slope
#< 3. horizontal line

#< 4. curved line with positive slope

Question ID : 26433096763

. Yot Attempted and
Status - \arked For Review

Chosen Option : ==




Q24 Which of e follwwirgyissNOTT aim assumptttontakiesni mttieeBemaulliittieasemn??
Ans X 1. The fuid is inviscid.

" 2. The fiow is rotational.
X 3.Thefiow is incompressible.

& 4.The fiow is steady.

Question ID : 26433698313

Net Atterpied and
SIalS  Marked Ee?%gvlew
Chosen Option : =

Q25 In Electrode Dlscharge Machiniing (EDM) process, the gap between the ool and wakipzes
shouild be:

Ans X 1.0.1mmto 0.3 mm
o 2.0.025 mmto 0.05 mm
< 3.0.25 mmto 0.5 mm
< 4.0.015 mm to 0.025 mm

Question ID : 2643361008613

Net Atierpied and
Status Marked Fer Review
Chosen Option : =

Q26 The discharge velocity in the orifice meter is measured by using which of the follawing?
Ans X 1.Rotameter

" 2. Pitot tube
< 3. Venturi meter
X 4. Elbow meter

Question ID : 26433095656

rked FoF Review
Chosen Optlon =

Q27 Water Is fiowing tmeugih a circular pipe under pressure. [fttettotdleereqyyppe unhitvwejbhbbf
the water at a aross-section is 30 m amdi tthe pizrmetric e sttt setion is 29,4 m), tHan
whait willl be tihe limetticheatbs thiw ssetition ?

Ans X 1.0.3cm
X 2.03m
o 3.06m
X 4.06cm

Question ID : 26433696314

Riet Attempted and
Stalus - \arked For Review
Chosen Option : ==




Q28 In a reciprocating compressar, the swept volume Is 8/9 timvass ttree masimumualiumee. Tive
clearance ratio will be equal to

Ans X 1.0.11
X 2.0.1
& 3.0.125
X 4.0.89

Question ID : 26433696766

N@Mﬁempted and
Status : rked Eor Review

Chosen Option : =

Q@29 The range of flow ratio value for a Francis turbine is:
Ans X 1.

< 2075t01.25

« 3. 0.15100.25

< 4.0.10t0 040

Question ID : 264336700926

Stat N@Mtttemsiee and
Y Marked For Review
Chosen Option : ==

QID A boiler produces steam at a rate of 10/9 kg per second at 20 bar and 400°C. The efficiency of the boiler is 80%, and the
feed-water temperature is 50°C. The calorific value of the fuel used is 44500 kJ/kg. Enthalpy of steam at 20 bar and
400°C is 3245.5 kI/kg, and enthalpy of feed-water at 50°C is 209.3 kJ/kg. The fuel burning rate in kg/h is:

Ans 1.
K2 34115
X3 150
X 4.3411.5

Question ID : 264336166923

Wﬁﬁaﬁp{ed and
Status : rked For Review

Chosen Option : =

QB Abody floats in a static fluid. It is found that the metacentre coincides with the centre of gravity of the body. The body

willbein ___ equilibrium.
Ans X 1. unstable
X 2. neither stable nor unstable
& 3. neutral
+ 4. stable

Question ID : 264336168919

Net Attempled and
Status : Marked Fer Review
Chosen Option : =




Q.32 AnIC engine gives an output of 4 KW when the input is 10000 J/S, and the thermal efficiencyis_____ .
Ans X 1.

X< 2.60%

+ 3. 40%

< 4.30%

Question ID : 264336100933

. Net Attermpied and
Status : Marked Fer Review
Chosen Option : ==

Q33 For a welwoity compounded impulse turbine, which of the following statements i cameat?
Ans X 1.Pressure drops only in moving blades

#< 2. Pressure drops both in nozzle and moving blades
#< 3. Pressure drops neither in moving blades nor in nozzle

«# 4. Pressure drops only in nozzle

Question ID : 26433096264

- Nt Atiempied and
Status £
Chosen Option : =-

Q34 The frictionall trque transmittestima coritel piva thssmg witthasssunppivorod tioififormweear
is_________as compared to umiform pressume tihesmy .

Ans X 1.more
o 2. less
/< 3. equal when bearing is new

X 4. always equal

Question ID : 26433691087

Status : Ansaaref
Chosen Option : §

- —--ee—————
Q35 Which of the followiing i NQT an advantage of water tube boiler in comparisom witth fiesttdise
boiler?
Ans " 1. Less immune to failure in feed water supply
X 2. High evaporation rate
/< 3. Easy transport and quick erection at site

¥ 4. All parts easily accessible for cleaning, inspection and repairing

Question ID : 26433695874

. Mot Atiempied and
SIS * \haried For Review
Chosen Option : ==




Q36 High pressure low water safety valve CANNOT be used on .
Ans & 1. locomotive boiler

< 2. Cornish boiler
< 3. Cochran boiler
< 4. Lancashire boiler

Question ID : 26433098887

. Net Atterpied and
Status : Marked Fer Review
Chosen Option : ==

Q37 Amengjive eylivdier s d e vauneeas 200cceadd-oompessisionatitiofof4. 4 the
mechanical and volumetric eftitonite aaed886.anti8h, respectively. The actual volume of
chargeim acimtettetiperstodiedss:

Ans X 1.264
o 2.208
X 3.164
X 4.124

Question ID : 26433096259

. Mot Atiempied and
Stalus : \erked For Review
Chosen Option : =

Q38 For a laminar flow through a circular pipe of diameter 400 mm, the maximum vellocity is 2
m/s. Whait wiill be tiewebtatiyyab 88confoomttizewadi bb thiaepippe ?

Ans X 1.1.1m/s
X 2.22mls
" 3.1.28m/s
X 4.12m/s

Question ID : 26433096316

. it Attempted and
SHatus * ptorked For Rewiew
Chosen Option : ==

Q3D I the tienrmallefficiency of a Camstt emginsissH 1 hiearnttibeceffutisn odizefiornzmecditze
Carnutreffiigesatomwilibee:

Ans X 1.2
X205
X 3.0
o 4.1

Question ID : 26433095620

. Nt Aiempted and
Stalus : \erked For Review
Chosen Option : ==




Q40 Water is fiowiing thougih a circular pipe of diameter 20 cm at the rate of 2 meter cube per
secomd]. Wt wilil Heet izereioitity bivateninHb eipige ?

Ans X 1.0.00324 cm/s
X 2.324mls
< 3.0.00637 cm/s
o 4.63.7m/s

Question ID : 26433096320

M@Mﬁ@mp&@d and
Status : rked Eor Review

Chosen Option : =

. _______________________________________________________________________________________________________________________|
Q41 Double helical gears are also known as:

Ans X 1.mitres
X 2. helical bevel gears

«" 3. herringbone gears
X 4. spurgears

Question ID : 264330610680

Status : Amsaneaiad
Chosen Option : 4

. _______________________________________________________________________________________________________________________|
Q42 In a heat pump, the processes of the cycle are carried out in such a manner that the
sequence of processes on the p-V dizgram

Ans X 1.is the same as in a heat engine

«# 2. is in anticlockwise direction
/< 3. depends on the processes

X 4.is in clockwise direction

Question ID : 26433095627

M@Mﬁempted and
Status : rked Eor Review

Chosen Option : ==

- —n
Q43 Imaamidstilbiviiestling system, miist of luttricating oil forms when:
Ans  «" 1.only fuel vaporises

X 2. neither oil nor fuel vaporises
< 3. both oil and fuel vaporise

X 4. only oil vaporises

Question ID : 26433696255

M@Mﬁempted and
Status : rked For Review

Chosen Option : ==




Q44 Which velocity is kept as @ common referemoe iim tustth iimlkett sl cutibet webtastty thiemgle fior
dravimgtievedtatipydiigoranobhatieanutbipies?

Ans X 1.Radial velocity
< 2. Whirl velocity
X 3. Relative velocity
«" 4. Blade velocity

Question ID : 26433096267

. st Adtempted and
Stalus : \iarked For Review
Chosen Option : =

QS 1, 5 simple vapour compression refrigeration cycle, the enthalpy at point 1, 2 and 4
are 260 kJ/kg, 60 kI/kg and 180 kJ/kg, respectively, as shown in the figure. If 2 kg
of refrigerant is used to cool the system, then COP of the refrigerator will be:

S /

Thigh '

T

Tlow

Ans X 1.2.25
X 2.35

X 3.3
& 4.15

Question ID : 26433096898

. Niot Attempted and
" Marked For Review
Chosen Option : —

Status

Q46 11y which boiler is forced circulation of water required?
Ans 1. Lancashire

+ 2. Benson

X 3. Locomotive

« 4 Babcock and Wilcox

Question ID : 264330100948

. Niot Attempted and
" Marked For Review

Chosen Option : —

Status




Q47 Polint X is 10 m below the free surface of a liquid and point Y is 12 m below the free surface
of the same liquid. The correct relationship for the pressure at points X and Y iis ..

Ans " 1. Pressure at point X < Pressure at point Y
#< 2. Pressure at point X = Pressure at point Y = 0
#X 3. Pressure at point X > Pressure at point Y

#X 4. Pressure at point X = Pressure at point Y

Question ID : 26433099843

M@Mﬁ@mp&@d and
Status : rked Eor Review

Chosen Option : =

Q48 Tihe CESumitaifmass demsityis ______ ..
Ans  «# 1. gram per cubic centimetre

¥ 2. kilogram per cubic metre
#< 3. gram per cubic metre

X 4. kilogram per cubic centimetre

Question ID : 26433685691
Status : Ansyeead
Chosen Option : 2

Q49 The product of specificwaliumesanet diamsityyits:
Ang " 1.1.0
X225
X 3.05
X 4.15

Question ID : 26433095695

Mot Atternpted and
Stalus : \arked For Review

Chosen Option : =

Q50 Which type of condenser iis used fior small installations of refrigeration systems (up to 30

Ans X 1. Shell and coil type
« 2. Double tube type
#< 3. Shell and tube type
/< 4. Forced convection type

Question ID : 26433699493

M@Mﬁempted and
Status : rked For Review

Chosen Option : ==




Q51 Afulllyimsyiatet=micoonpidedsl ermpityderisibbiainflide dvititissom @ niddwtitmeg iigite! d aidd
velloeitly WHiibhobttiaef 6tlboviing ss-oarsett?

Ans " 1. Specific enthalpy of entering fiuid is equal to final specific internal energy of fuid in
the charged tank.
X 2. Specific enthalpy of entering fuid is equal to final specific potential energy of fuid in
the charged tank.
25 3. Nothing can be said about specific enthalpy.

< 4. Specific enthalpy of entering fuid is equal to final specific kinetic energy of fuid in the
charged tank.

Question ID : 26433098618

Chosen Option : ==

. Net Atiempied and
Status : Marked For Review

Q52 Tie hexitt sxeguiivad] o relteasatidhiing apitasecthangeisscaiiel .
Ans  «" 1. latent heat

X 2. specific heat

X 3. enthalpy

X 4. sensible heat

Question ID : 26433096743
Status : Net Atternpied

Chosen Option : =

and

Marked Fer Review

Q53 Which of the followiing charactiititssdbaifidsst bzt biecl lanoaskinectndliber ssaarfiect iblectivdliber?
Ans X 1. Allaround brick-work setting for the circulation of hot gases

" 2. Use of two fiue tubes through which fiow of hot gases and water is kept around the
tubes

#< 3. Coalfiring

< 4. Horizontal erection

Question ID : 26433095876

Chosen Option : ==

ot Attempted and
Status e

Q54 Baterndwarikof exgpattion is disined as .
Ans X 1. heat expended in overcoming the internal molecular resistance to change in state
from saturated water to dry steam

«" 2. heat expended in overcoming the external resistance to change in volume

#X 3. heat required for complete conversion of saturated liquid to dry saturated vapour

#< 4. heat required for complete conversion of ice to water

Question ID : 26433095591

Chosen Option : ==

. Net Attermpied
Status : Marked For Review

and




Q.55 If a turbine develops a power of 2.515 MW at 240 rpm, then the torque developed in the turbine shaft is:
A X 110 kKNm

< 2. 200 kKNm

+ 3100 kNm

X 4.20 kKNm

Question 1D : 2643301608928

- ot Attempted ane
SIS Warked For Review
Chosen Option : =

Q56 Supersaturated expansion of steam ttiraugihttieenozziterassdissim:
Ans X 1. decrease in entropy and decrease in dryness fraction

" 2. increase in entropy and increase in dryness fraction
X 3.increase in entropy and decrease in dryness fraction

X 4. decrease in entropy and increase in dryness fraction

Question ID : 26433096263

. Not Atterpied and
Status Marked Fer Review
Chosen Option : =

Q.57 Cross-flowttutbiressanse diwinsss fforasowvestingdheddirtticoreayyob fhhevriddometaer
currents to .-

Ans X 1.hydraulic energy

X 2. pressure energy
" 3. rotational mechanical energy

X 4. chemical energy

Question ID : 26433066710

Status : Anspared
Chosen Option : 3

Q.58 The dimensional fomiuika off WallunetiocD satteaggei sginen hy:
A X 112772

o 2.13T1

X3.LT?

X 413712

Question D : 26433695653

- ot Avemnpied and
St - o R
Chosen Option : ==




Q59 Which of the followiing high pressure bollers has a umique ciaractieristic of absence of steam
sepaatiingdium??
Ans X 1. Velox boiler

X 2. Loetrer boiler
< 3. Lamont boiler
« 4. Benson boiler

Question D : 26433695964

Stat M@Mﬁ@mpted and
&S Marked For Review
Chosen Option : =

Q60 Convergent part, divergent part and throat are the used to comsiruct which of the followig
Ans X 1. Orifice meter
X 2. Rotameter

«” 3. Venturi meter
X 4. Pitot tube

Question ID : 264336095660

Status : Anspaeed
Chosen Option : 3

Q61 Which of the following is NOT a property of the thermodynamic system?
Ans 1. Temperature

+ 2. Heat
X 3. Internal energy

< 4. Pressure

Question 1D : 264336160951

Status : Ansaaead
Chosen Option : 3

Q&2 When afiuid comes into contact with a surface, the force exerted by tthefiuid on the surface
is refemedito @s .

Ans & 1. total pressure

< 2. normal pressure
X 3. weight of the liquid
X 4. total force

Question ID : 26433095677

&S Marked For Review
Chosen Optlon =




Q63 The purpose of using fins in intercooler is to reduce:
Ans X 1. pressure

« 2. temperature
< 3. volume
X 4. entropy

Question ID : 2643307108944

Status : Ansiseed
Chosen Option : 2

Q&4 Iin @ refiigeraion systtan tewarkkiinitis 20 kd/kg while 80 kJ/kg of teatiknejjected ouiteff
the system. The CIPR6 ffeesygstemmiliibze:

Ans X 1.4
o 2.3
X< 3.0.25
X 4.5

Question ID : 26433096738

. Net Atierpied and
Status Marked Fer Review
Chosen Option : ==

Q65 Choose the correct answer fromn the: fallwiirg fisurappidns?
S1: Openaysie Gastlutiineils @ notary imtermal combustion engjine.
$2: Steam emgline iis @ verijprocation external combustiiom engjine.

Ans X 1.S1is incorrect but S2 is correct
< 2.S1is correct but S2 is incorrect
#< 3. Neither S1 nor S2 is correct
«” 4. Both S1and S2 are correct

Question ID : 264330166576

. ot Aktempted and
Status : \arked For Review
Chosen Option : =

Q66 The property of the materikll by which the: el lecowens its aiigivall e affesrtite:
remowal| off load!its kinommaas :

Ans X 1. plasticity
X 2. ductility
" 3. elasticity
X 4. hardness

Question ID : 26433066675

Status : Anspared
Chosen Option : 3




Q67 The change In vertical height (im mmm) affeaa\Waittgayesnuswiteeiltatiznggesitsssppeddoond80
rpmi to 51 rpm is approxivmatelly egultto:
Ans X 1.8

X 25
X316
o 414

Question D : 26433097674

Mot Attempted and
SIS - parked For Review
Chosen Option : =

Q&S The amount of heat required to convert water at a given temperature and pressure into steam at the same temperature
and pressure is known as:

Ans 1. superheated steam

« 2. latent heat of water
& 3. sensible heat of water

X 4. enthalpy of wet steam

Question ID : 2643301608938

Status : Ansaaeed
Chosen Option : 2

P —————
Q69 The machining time fior dill gy pragsesssits calttiddecdttyy:
(Where L = Langth of axial travel in mm; N = npm of the drill; f = feed per rev in mm)

Ans L2
X1T=

(N X1

w2 T= L

T (Nxf

f
v TRCIE [
T=0xD

N X
ULy

Question ID : 26433696038

Net Attermpied and
Status : Marked For Review
Chosen Option : ==




Q7 Which of the followiing Sttaronentisiisttreeatmudterritogyyiis?

Ans X 1. All adiabatic processes are isentropic processes.

#< 2. Entropy of an isolated system may increase or decrease according to the value of
internal irreversibility.

" 3. Entropy of the universe always increases for all practical processes.

#< 4. Entropy of a system is intrinsic property.

Question ID : 26433696746

. Mot Attempted and
Stalus : \arked For Review
Chosen Option : =

Q71 Hiigts widteaxge weliumetric change under the action of external forces due @
Ans X 1. bulk modulus

«" 2. compressibility
X 3. incompressibility
X 4. capillarity

Question ID : 26433096132

. ot Attempted and
SIatus * ptorked For Rewiew
Chosen Option : =

___________________________________________________________________________________________________________________________|
Q72 Choose the correct answer fronn tie fiall it feouroppidoss.
S1: Hiigih load on engjine reguiites High viscosity lubricating oill.
$2: Highsipeetengieasqqireetdawisisesisityibil.
Ans " 1.S1and S2 both are correct
X 2.1 s correct but S2 is incorrect
#< 3.1 and S2 both are incorrect

X 4.S1is incorrect but S2 is correct

Question ID : 2643301060558

Status : Amsnaee
Chosen Option : {

Q73 Twe pressune limessim e sypesiasiestragitomamttiesTFS dirgam offa Ramikine cycke ane::
Ans X 1.Diverged to each other

X 2. Perpendicular to each other
#X 3. Converged to each other
" 4. Parallel to each other

Question ID : 2643361688841

. Not Attempied and
St -
Chosen Option : ==




Q74 Compared to Air cooling System of am engjine tthe commresssd Water coolkd engime has
Ans X 1. Higher fuel consumption

X 2. No effect on fuel consumption
" 3. Lower fuel consumption

X 4. Same fuel consumption

Question 1D : 2643307100853

- Not Attempied and
SIalS  Marked Ee?%gview
Chosen Option : =

Q78 Which of the following statements is true about sensible heat?
Ans X 1. Itis the amount of energy given to a system to increase its enthalpy.

< 2. It is the molecular energy of a system stored in it because of random motion of the
molecules of the system.

«# 3. It is the amount of energy needed to increase or decrease the temperature of
refrigerant.

X 4. ltis the amount of energy required to convert liquid refrigerant into vapour refrigerant.

Question ID : 26433096745

. Net Atierpied and
Status Marked Fer Review
Chosen Option : ==

Q76 If the overall efficieey and mechanical eftitaoyyadfcacentitiifigahbpuneppatecSs% and 70%,
respatineiy thbewivbaivilibbé& itsraamoeteiricfasidrogy ?

Ans X 1.39.2%
X 2.60%
o 3.80%
X 4.70%

Question ID : 26433096727

. Mot Attempted and
Stalus  \tarked For Review
Chosen Option : ==

Q77 Variation in a specific volume of water if it is heated at 273 K:
Ans 1. increases continuously

< 2. first increases then decreases
« 3. first decreases then increases

X 4. depresses continuously

Question 1D : 2643301608918

- Net Attempied and
states < e e
Chosen Option : =-




Q78 Sipssfic heat at constant volumeiis
Ans X 1. the ratio of the change in speciic enthalpy to the corresponding change in
temperature

" 2. the ratio of the change in specific internal energy to the corresponding change in
temperature

X 3. the ratio of the change in pressure to the corresponding change in volume

X 4. the ratio of the change in volume to the corresponding change in pressure

Question ID : 26433095674

ot Attempted and
Status : Marked Eor Review

Chosen Option : =

Q79 When the compressor and motor operate on the same shaft and are emclosed im @ common
casing, then it is known as .
Ans  «" 1. hermetically sealed compressor

< 2. screw compressor
¥ 3. reciprocally sealed compressor

¥ 4. centrifugal compressor

Question ID : 26433096768

Net Attermphed and
Status : Marked For Review

Chosen Option : ==

Q80 Which among the followiing zone or part of pisten is subjectd i highesit ttmpemituedie o

Ans & 1. The center of the crown
< 2. Gudgeon pin
X 3. Bottom of the skirt

X 4. Piston outer surface

Question ID : 264330100556

Status : Net Answered
Chosen Option : =

Q81 The awerage gpeatting presswe of a Benson bolleris_________ .
Ans  «# 1.250 bar

< 2.200 bar
< 3.150 bar
< 4.100 bar

Question ID : 26433095966

Mﬁﬁaﬁpted and
Status : rked Eor Review

Chosen Option : ==




Q.82 A reaction turbine works at 420 rpm and its inlet diameter is 2 m. Determine its tangential velocity.
A X140 m/s

X2 28m/s

« 3 44 m's

X 436m's

Question ID : 264336166952

. Net Atterpied and
Status Marked Fer Review
Chosen Option : =-

Q.83 Which of the folllowing sitdementss ssNDT ansrest??

Ans & 1. The force of friction is not depending upon the roughness of the surfaces.

X 2. The magnitude of the force of friction is exactly equal to the force, which tends to
move the body.

/X 3. The force of friction is independent of the area of contact between the two surfaces.

X 4. The force of friction always acts in a direction, opposite to that in which the body
tends to move, if the force of friction would have been absent.

Question ID : 26433066670

Status : Ansnetad
Chosen Option : 4

Q4 Casfficient of performance Is also called .
Ans X 1. refrigeration ratio

X 2. performance ratio
«# 3. energy ratio
X 4. heat ratio

Question ID : 26433096749

Status : Anspaeed
Chosen Option: 2

Q85 A cylinder contaiins 0.2 m® offa gass aft @ pressune off 1 tarrand tempaseattne 277 C. I tissgassiss

compressed to 0.02 m®ata pressure of 20 bar, the temperature at the end of compressiam
will be:

Ans X 1.540°C
X 2.270°C
o 3.327°C
X 4.600°C

Question ID : 26433095615

. ot Aktempted and
Stalus - \arked For Review
Chosen Option : =




Q.86 In a reciprocating compressor, the value of clearance volume has a direct impact on:
Ans > 1. piston speed

« 2. volumetric efficiency

X 3. thermal efficiency

< 4. noise level

Question ID : 264336106946

. ot Attempted and
SIS Marked For Review
Chosen Option : =-

Q87 The hydrauiiic efficiency of a hydraulic turbine is related to the oxarslllefficiency of a turbine
as

Ans X 1. Im /1o
2. Ifo

3 1o/ I}m
4. o X Im

Question ID : 26433096726

. Not Attempted and
Status - ptorked For Reviiew

Chosen Option : -

Q88 Dhynessfiactioniisdefinedas ..

Ans  «" 1.ratio of mass of dry steam to total mass of wet steam
X 2. ratio of total volume of wet steam to volume of dry steam
X 3. ratio of volume of dry steam to total volume of wet steam

X 4. ratio of total mass of wet steam to mass of dry steam

Question ID : 26433095586

. Net Atterpied and
Status : Marked For Review

Chosen Option : ==

e ——
Q89 The preessueebstow stmospheric value iis called )
Ans  «" 1.vacuum pressure

X 2. absolute pressure
X 3. hydrostatic pressure
X 4. gauge pressure

Question ID : 26433065683

Status : Anspared
Chosen Option : 4




QI Oilafi spacific gravity 0.9 is flowing at thre raite of 1QD|Ites parsecond ima Q.30 m diameter
pipe. If the pressure head &t point P is 3 m of @il amnd ik pimtPis4 malimettediitumlings,

then whatt will be the total enengy att pwiint Piim rlmmaﬁﬂlr??mgeggﬂmmé’z
Ans X 1.8.1mofoil

" 2. 7.1mofoil
X 3.7.4mofoll
X 4.7.8 mof oil

Question ID : 26433696315

Stat mﬁﬁ@mpted and
S Marked For Review
Chosen Option : =

Q91 e numiber of hellical springs used in a spring loaded safety valve is
Ans « 1.0ne

X 2. four
X 3.two
X 4. three

Question ID : 26433095898

Net Attermpied and
Status Marked Fer Review
Chosen Option : ==

Q92 In order to increase the efficimmy off Rankine cycle, Which one of the following statemesnit iis
inconmest?

Ans X 1. By decreasing condenser pressure
X 2. By superheating the steam
/< 3. By increasing boiler pressure

4 4. By increasing condenser pressure

Question ID : 264336160881

Net Attermpled and
Status : Marked Fer Review
Chosen Option : ==

P —————
Q93 In a horlzontal pipe with a 100 mm diameter, the pressure head lloss over 2 lEngthof 5 metires

is found to be O &5m Iffttreeccedficient of friction is 0.1, ttreflow wetadityimttenirewililbee
Ans X 1.0.5m/sec
X 2.2 m/sec
" 3.0.91 m/sec
X 4.1.5m/sec

Question ID : 26433095665

Stat m&ttémpied and
S Marked Fer Review
Chosen Option : ==




Q94 For HSdimm of waper aempression refrigeration cycle, wiich of the following statenemits
is

Ans X 1.The compression process is shown by a vertical line.
#< 2. The throttling process is shown by a horizontal line.
" 3. The throttling process is shown by a curved line with a positive slope.

/X 4. The evaporation process is shown by a curved line with a negative slope.

Question ID : 26433096758

Mot Attempted and
SIS - parked For Review
Chosen Option : =

Q95 Fora given irmpellier dirmettst, Power of the: pump i prepatitnaditeo:
Wineree NN=otdtiboabsppegthirpmm

Ans X 1.1/N
X 2.N?

o 3.N°
X 4N

Question ID : 26433096728

Mot Atiempted and
Stalus : \erked For Review
Chosen Option : =

Q96 The pressure of charge inducted through the inlet port inside the cylinder in the case of a
two-stroke engineis __ .

Ans " 1. equal to atmospheric pressure
X 2. less than atmospheric pressure
X 3. equal to cylinder pressure

/X 4. greater than atmospheric pressure

Question 1D : 264330160548

Mot Aliempted and
SIatus * ptorked For Rewiew
Chosen Option : ==

Q97 Which of the following specificationis gemerallly measured in cubic centimeter for an internal
combustion ergjire

Ans  «" 1. Swept volume of cylinder

X 2. Total volume of cooling water
< 3. Volume of exhaust gases

< 4. Volume of fuel inside tank

Question 1D : 264336166577

S Marked For Review
Chosen Optlon e




Q8 The Bel-Caltemanm oydieis an example of
Ams X 1.Brayton cycle

< 2. vapour compression refrigeration cycle
< 3. vapour absorption refrigeration cycle

o 4. air refrigeration cycle

Question ID : 26433096761

. Not Attempted and
Status Marked For Review
Chosen Option : -

Q99 In which type of manameitr, a reservoir having a large cross-sectional area (albout 100 times)
as companetitio e areadfitietubzei iscoonretied dooored ftad ilinblssod fi eernzmaonacte? ?
Ans X 1. U-tube differential manometer

#< 2. Simple U-tube manometer
«" 3. Single column manometer

X 4. Piezometer

Question ID : 26433096307

. Net Atterpied and
Status : Marked Fer Review
Chosen Option : ==

Q100 The efficiency of any reversible engine operating between source reservoir and sink reservoir
depends on

Ans X 1. the nature of working fiuid

X 2. the temperature of the source reservoir only
" 3. the temperatures of both reservoirs

X 4. the nature of working fuid and the temperatures of both reservoirs

Question ID : 26433095622

. Net Attemplied and
Status : Marked Fer Review
Chosen Option : =




